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Name: Date:

Addition Review
Why did the rabbit go to the barber? To get a hare-cut.

Find the sum.

1. 796
586+

2. 289
176+

3. 751
614+

4. 612
652+

5. 879
723+

6. 909
428+

7. 997
271+

8. 697
331+

Find the sum.

9. 64
48
88+

10. 33
59
52+

11. 11
38
14+

12. 80
93
23+
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Name: Date:

Addition Review
Why did the rabbit go to the barber? To get a hare-cut.

Find the sum.

1. 796
586

1,382
+

2. 289
176
465

+

3. 751
614

1,365
+

4. 612
652

1,264
+

5. 879
723

1,602
+

6. 909
428

1,337
+

7. 997
271

1,268
+

8. 697
331

1,028
+

Find the sum.

9. 64
48
88

200
+

10. 33
59
52

144
+

11. 11
38
14
63

+

12. 80
93
23

196
+


